
ITEM  #1064540

MODEL  #VS26EK-W

Vertical Standard
Extender Kit

1

Español p. 15

Questions, problems, missing parts? Before returning to your retailer, call our customer 
service department at 888-251-1026, 8 a.m. - 8 p.m., EST, Monday - Sunday. 

Serial Number Purchase Date

You could also contact us at partsplus@lowes.com.

ATTACH YOUR RECEIPT HERE

ORIGIN 21 and logo design are trademarks 
or registered trademarks of LF, LLC. 
All rights reserved. 

SS22167



2

TABLE OF CONTENTS

Package Contents ..........................................................................................................................3

Hardware Contents .........................................................................................................................4

Safety Information .........................................................................................................................5

Preparation ....................................................................................................................................5

Assembly Instructions ....................................................................................................................6

Operating Instructions ...................................................................................................................13

Care and Maintenance ..................................................................................................................14

Warranty .......................................................................................................................................14

Replacement Parts List  ............................................................................................................... .14



PACKAGE CONTENTS

3

 PART  DESCRIPTION QUANTITY
26-IN Vertical Standard
Universal Wall Clip
Bottom Mount Wall Clip
Extender Bracket

1
2
1
1

A
DD
EE
FF

A

DD

EE

FF

DD



HARDWARE CONTENTS 

4

M4 x 8
Screw
Qty. 6

CC

4.8 x 38
Panhead Screw

Qty. 4
BB

Wall Anchor

Qty. 4AA

Universal 
Wall Clip

Qty. 2
DD

Bottom Mount 
Wall Clip 

Qty. 1
EE

Vertical Standard 
Connector 

Qty. 1
FF



SAFETY INFORMATION

Please read and understand this entire manual before attempting to assemble, operate or install the 
product. 

• Please confirm all parts are correct before starting the assembly process.
• Please read all instructions carefully before beginning.

5

   • Do not allow children to climb or play in, on, or around this product.
   • Do not alter this product in any manner.
   • Failure to obey installation instructions and warnings can result in injury or death.
   • Use correct hardware for your specific wall type, the hardware provided is intended for 1/2 inch   
     drywall.
   • Horizontal and Vertical Standards must be firmly secured to the wall.
   • Do not overload.

WARNING

Before beginning assembly of product, make sure all parts are present. Compare parts with  package 
contents list and hardware contents list. If any part is missing or damaged, do not attempt to 
assemble the product.

Estimated Assembly Time: 30 minutes

Tools Required for Assembly (not included): 
Tape Measure, #2 Phillips Screwdriver, Pencil, Drill Bits (1/8” & 5/16”), Drill, Level 
  

PREPARATION

Find helpful install videos and tips at lowes.com

Tools Recommended for Assembly (not included): 
Step Ladder, Stud Finder, Rubber Mallet  



ASSEMBLY INSTRUCTIONS

6

1.   Insert the Bottom Mount Wall Clip (EE) into the 
26-IN Vertical Standard (A) with tab facing down. 
Fasten the Bottom Mount Wall Clip with M4 x 8 screws 
(CC).         

2.  Insert the Extender Bracket (FF) into your existing 
Vertical Standard (sold separately). Fasten the Extender 
Bracket (FF) with a M4 x 8 screw (CC).          

1

2

Find helpful install videos and tips at lowes.com

Hardware Used 

CC x 2M4 x 8 

EE Bottom Mount
Wall Clip x 1

Hardware Used 

CC x 1M4 x 8 

FF Extender Bracket x 1

EE

A

FF

NOTE: 
Vertical Extender Kit can be used to extended an 
existing Vertical Standard or installed directly on to 
existing Horizontal Top Track as a shorter Vertical 
Standard. 



ASSEMBLY INSTRUCTIONS

7

3.  With the Extender Bracket (FF) installed, mark 
the hardware hole location.     

4.  Remove the Extender Bracket (FF) and using 
5/16" drill bit, pre-drill marked hole locations into 
drywall. Then install Drywall Anchor (AA) into 
pre-drilled drywall holes. Do not drill through the 
metal bracket.

4

3

FF

AA

If you are unsure if a stud is located 
behind markings, use 1/8" drill bit to 
drill all holes.  If no stud is present, 
then use 5/16" drill bit to make holes 
larger for drywall anchors. 

PRO TIP

Use a rubber mallet to lightly tap 
Drywall Anchors (AA) into the drywall. PRO TIP

Hardware Used 

x 1AA Drywall Anchor



Hardware Used 

BB 4.8 x 38 x 1

5.  Re-insert the Extender Bracket (FF) into your 
existing Vertical Standard (sold separately). Fasten the 
Extender Bracket (FF) with M4 x 8 screws (CC).          

5

Hardware Used 

CC x 2M4 x 8 

FF Extender Bracket x 1

FF

6.  Secure the Vertical Standard Connector (FF) to 
wall using 4.8 x 38 Panhead Screw (BB), then slide 
the 26-IN Vertical Standard (A) onto the Extender 
Bracket (FF). 

6

A

Find helpful install videos and tips at lowes.com

BB

FF

ASSEMBLY INSTRUCTIONS

8



8.   Remove the 26-IN Vertical Standards (A) to reveal 
the marks made in the previous step. Using 5/16” drill 
bit to pre-drill holes into drywall. Then, install Drywall 
Anchors (AA) into pre-drilled drywall holes.          

8

If you are unsure if a stud is located 
behind markings, use 1/8" drill bit to 
drill all holes.  If no stud is present, 
then use 5/16" drill bit to make holes 
larger for drywall anchors.

PRO TIP

EE

7.  Use a Level to make sure the 26-IN Vertical 
Standard (C) are straight. Then mark hole locations 
of the Bottom Mount Wall Clips (EE).

7

Hardware Used 

x 1AA Drywall Anchor

Use a rubber mallet to lightly tap 
Drywall Anchors (AA) into the drywall. PRO TIP

AA

ASSEMBLY INSTRUCTIONS

9



ASSEMBLY INSTRUCTIONS

10

9

Find helpful install videos and tips at lowes.com

9. Fasten 26-IN Vertical Standard (A) to the Vertical 
Standard Connector (FF) with M4 x 8 screws (CC).           

Hardware Used 

10

AA
BB

EE

10. Secure the 26-IN Vertical Standard (A) to wall 
through the Bottom Mount Wall Clip (EE) using 4.8 
x 38 Panhead Screw White (BB). 

Hardware Used 

BB 4.8 x 38 x 1

CCCC

A

CC x 2M4 x 8 



11

ASSEMBLY INSTRUCTIONS

12 12. Remove Universal Wall Clip (DD) and using 
5/16" drill bit, pre-drill marked hole locations into 
drywall. Do not drill through the metal brackets.

If you are unsure if a stud is located 
behind markings, use 1/8" drill bit to 
drill all holes.  If no stud is present, 
then use 5/16" drill bit to make holes 
larger for drywall anchors. 

PRO TIP

1111. Insert the Universal Wall Clip (DD) into both 
sides of the 26-IN Vertical Standards (A) near its 
center point. Once inserted push clips up and 
mark the hardware hole locations.    

Hardware Used 

DD Universal Wall
Clip x 2

NOTE: 
Ensure Universal Wall Clip is installed in upward 
direction for maximum support.  



ASSEMBLY INSTRUCTIONS

12

14

13 13. Install Drywall Anchors (AA) into pre-drilled 
drywall holes. 

2x

AA

Hardware Used 

x 2AA Drywall Anchor

Use a rubber mallet to lightly tap 
Drywall Anchors (AA) into the drywall. PRO TIP

DD Universal Wall
Clip

x 2

14. Re-install each Universal Wall Clip (DD) into 
the 26-IN Vertical Standard (A) at marked hole 
locations and secure Clips to wall using 4.8 x 38 
Panhead Screw White (BB).     

Hardware Used 

BB 4.8 x 38 x 2



13

Example 26-IN Vertical Standard Kit Layouts

OPERATING INSTRUCTIONS



CARE AND MAINTENANCE

REPLACEMENT PARTS LIST

For replacement parts, call our customer service department at 888-251-1026, 8 a.m. - 8 p.m.,
EST, Monday - Sunday.  You could also contact us at partsplus@lowes.com.

Printed in China

A
DD

EE

FF

DD

 PART  DESCRIPTION QUANTITY
26-IN Vertical Standard
Universal Wall Clip
Bottom Mount Wall Clip
Extender Bracket

1014540-A
1014540-DD
1014540-EE
1014540-FF

A
DD
EE
FF

WARRANTY

This limited warranty covers the original purchase of this product used for normal personal or 
household us. Origin 21 warrants its products will be free from defects in materials and 
workmanship (normal wear and tear excepted), for a period of one (1) year from the date of 
purchase, except as provided below. As the exclusive remedy under this warranty, Origin 21 will 
repair or replace any defective component. 

This warranty does not apply to damage caused by fire, accident, negligence, misuse, use other 
than as stated in product instructions, improper cleaning or other circumstances not directly 
attributable to defects in materials and workmanship.

Materials are warranted for one year from date of purchase. Proof of purchase is required in the 
form of a receipt (copy or original) to validate the warranty.

• Use a soft, clean cloth that will not scratch the surface when dusting.
• Make sure all bolts/screws are tightly fastened before the unit is used, check bolts/screws 
periodically and tighten them if necessary. 

14



ARTÍCULO #1064540

MODELO #VS26EK-W

Kit de extensores
estándar verticales

15

Español p. 15

¿Preguntas, problemas, piezas faltantes? Antes de volver a la tienda, llame a nuestro 
Departamento de Servicio al Cliente al 888-251-1026, de lunes a domingo de 8 a.m. a 8 
p.m., hora estándar del Este. También puede ponerse en contacto con nosotros en 
partsplus@lowes.com.

Número de serie Fecha de compra

ADJUNTE SU RECIBO AQUÍ

SS22167

ORIGIN 21 y el diseño del logotipo
son marcas comerciales o marcas
comerciales registradas de LF, LLC.
Todos los derechos reservados.



16

ÍNDICE

Contenido del paquete ................................................................................................................ 17

Aditamentos ................................................................................................................................. 18

Información de seguridad ............................................................................................................. 19

Preparación .................................................................................................................................. 19

Instrucciones de ensamblaje ........................................................................................................ 20

Instrucciones de funcionamiento  ................................................................................................. 27

Cuidado y mantenimiento ............................................................................................................. 28

Garantía ....................................................................................................................................... 28

Lista de piezas de repuesto ........................................................................................................ . 28



CONTENIDO DEL PAQUETE

17

 PIEZA DESCRIPCIÓN                         CANTIDAD
Estándar vertical de 66,04 cm
Clip de pared universal
Clip de pared de montaje inferior
Soporte extensor

1
2
1
1

A
DD
EE
FF

A

DD

EE

FF

DD



ADITAMENTOS

18

M4 x 8
TornilloCC

Tornillo de cabeza 
alomada de 4,8 x 38BB

Ancla de expansión 
de pared
Cant. 4

Cant. 4

Cant. 6

AA

Clip de pared 
universal
Cant. 2

DD

Clip de pared de 
montaje inferior

Cant. 1
EE

Conector estándar 
vertical
Cant. 1

FF



INFORMACIÓN SOBRE SEGURIDAD

Lea y comprenda completamente este manual antes de intentar ensamblar, usar o instalar el 
producto.

Confirme que todas las piezas sean las correctas antes de comenzar el proceso de ensamblaje.
Lea atentamente todas las instrucciones antes de comenzar.

   • No permita que los niños se suban al producto o que jueguen cerca de él.
   • No modifique este producto de ninguna manera.
   • El no respetar las instrucciones de instalación y las advertencias puede ocasionar lesiones o la 
muerte.
   • Use los aditamentos correctos para su tipo de pared específico. Los aditamentos provistos están 
diseñados para paneles de yeso de 12,7 mm.
   • Los estándares horizontales y verticales deben estar firmemente asegurados a la pared.
   • No los sobrecargue.

ADVERTENCIA

Antes de comenzar a ensamblar el producto, asegúrese de tener todas las piezas. Compare las 
piezas con la lista del contenido del paquete y la lista de aditamentos. No intente ensamblar el 
producto si falta alguna pieza o si estas están dañadas.

Tiempo aproximado de ensamblaje: 1 hora

Herramientas necesarias para el ensamblaje (no se incluyen):
Cinta métrica, destornillador Phillips n.º 2, lápiz, brocas para taladro (1/8" y 5/16"), taladro
  

PREPARACIÓN

Encuentre videos y consejos de instalación útiles en lowes.com

Herramientas recomendadas para el ensamblaje (no se incluyen): 
Escalera de tijera, detector de vigas, mazo de goma

19



INSTRUCCIONES DE ENSAMBLAJE

20

1.   Inserte el clip de pared de montaje inferior (EE) en 
el estándar vertical (A) de 26 pulgadas con la lengüeta 
hacia abajo. Sujete el clip de pared de montaje inferior 
con tornillos M4 x 8 (CC).

2.  Inserte el soporte extensor (FF) en su estándar 
vertical actual (se vende por separado). Fije el soporte 
extensor (FF) con un tornillo M4 x 8 (CC).       

1

2

Encuentre videos y consejos de instalación útiles en lowes.com

Aditamentos utilizados

CC x 2M4 x 8 

EE x 1

Aditamentos utilizados

CC x 1M4 x 8 

FF Soporte extensor x 1

EE

A

FF

NOTA: 
El kit de extensores verticales se puede usar para 
extender un estándar vertical existente o se puede 
instalar directamente en el riel superior horizontal 
existente como un estándar vertical más corto.

Clip de pared de 
montaje inferior



INSTRUCCIONES DE ENSAMBLAJE

21

3.  Con el soporte extensor (FF) instalado, marque 
la ubicación del orificio de los aditamentos. 

4.  Retire el soporte extensor (FF) y, con una broca 
para taladro de 5/16", taladre previamente las 
ubicaciones de los orificios marcados en el panel de 
yeso. Luego instale el ancla de expansión para 
panel de yeso (AA) en los orificios pretaladrados en 
el panel de yeso. No perfore el soporte de metal.

4

3

FF

AA

Aditamentos utilizados

x 1AA
Ancla de expansión 
para panel de yeso

Si no está seguro de si hay una viga detrás 
de las marcas, use una broca para taladro de 
1/8" para perforar todos los orificios. Si no hay 
vigas, use una broca para taladro de 5/16" 
para hacer agujeros más grandes para las 
anclas de expansión para panel de yeso.

CONSEJO DE PROFESIONALES

CONSEJO DE PROFESIONALES
Use un mazo de goma para golpear 
ligeramente las anclas de expansión para 
panel de yeso (AA) en el panel de yeso.



Aditamentos utilizados

BB 4,8 x 38 x 1

5.  Vuelva a insertar el soporte extensor (FF) en su 
estándar vertical actual (se vende por separado). Fije el 
soporte extensor (FF) con tornillos M4 x 8 (CC).     

5

Aditamentos utilizados

CC x 2M4 x 8 

FF Conector estándar 
vertical

x 1

FF

6.  Fije el conector estándar vertical (FF) a la pared 
con un tornillo de cabeza alomada de 4,8 x 38 (BB), 
luego deslice el estándar vertical (A) de 26 
pulgadas en el soporte extensor (FF).

6

A

Encuentre videos y consejos de instalación útiles en lowes.com

BB

FF

INSTRUCCIONES DE ENSAMBLAJE

22



8.   Retire los estándares verticales (A) de 66,04 cm para 
que se muestren las marcas hechas en el paso anterior. 
Use una broca para taladro de 5/16" para pretaladrar 
orificios en el panel de yeso. Luego instale las anclas de 
expansión para panel de yeso (AA) en los orificios 
pretaladrados en el panel de yeso.

8

EE

7.  Use un nivel para asegurarse de que los 
estándares verticales (C) de 66,04 cm estén rectos. 
Luego marque las ubicaciones de los orificios de los 
clips de pared de montaje inferior (EE).

7

Aditamentos utilizados

x 1
AA

INSTRUCCIONES DE ENSAMBLAJE

23

AA
Ancla de expansión 
para panel de yeso

Si no está seguro de si hay una viga detrás 
de las marcas, use una broca para taladro de 
1/8" para perforar todos los orificios. Si no hay 
vigas, use una broca para taladro de 5/16" 
para hacer agujeros más grandes para las 
anclas de expansión para panel de yeso.

CONSEJO DE PROFESIONALES

CONSEJO DE PROFESIONALES
Use un mazo de goma para golpear 
ligeramente las anclas de expansión para 
panel de yeso (AA) en el panel de yeso.



INSTRUCCIONES DE ENSAMBLAJE

24

9

Encuentre videos y consejos de instalación útiles en lowes.com

9. Fije el estándar vertical (A) de 66,04 cm al conector 
estándar vertical (FF) con tornillos M4 x 8 (CC).           

Aditamentos utilizados

10

AA
BB

EE

10. Asegure el estándar vertical (A) de 66,04 cm a 
la pared a través del sujetador de pared de 
montaje inferior (EE) usando un tornillo blanco de 
cabeza alomada de 4,8 x 38 (BB).

Aditamentos utilizados

BB 4,8 x 38 x 1

CCCC

A

CC x 2M4 x 8 



25

INSTRUCCIONES DE ENSAMBLAJE

12 12. Retire el clip de pared universal (DD) y, con 
una broca para taladro de 5/16", taladre 
previamente las ubicaciones de los orificios 
marcados en el panel de yeso. No perfore los 
soportes de metal.

1111. Inserte el clip de pared universal (DD) en 
ambos lados de los estándares verticales (A) de 
66,04 cm cerca de su punto central.

Aditamentos utilizados

DD Clip de pared 
universal x 2

NOTA: 
Asegúrese de que el clip de pared universal esté 
instalado con orientación hacia arriba para obtener 
el máximo apoyo.

Si no está seguro de si hay una viga detrás 
de las marcas, use una broca para taladro de 
1/8" para perforar todos los orificios. Si no hay 
vigas, use una broca para taladro de 5/16" 
para hacer agujeros más grandes para las 
anclas de expansión para panel de yeso.

CONSEJO DE PROFESIONALES

CONSEJO DE PROFESIONALES
Use un mazo de goma para golpear 
ligeramente las anclas de expansión para 
panel de yeso (AA) en el panel de yeso.



INSTRUCCIONES DE ENSAMBLAJE

26

14

13 13. Instale las anclas de expansión para panel de 
yeso (AA) en los orificios pretaladrados en el 
panel de yeso.

2x

AA

Aditamentos utilizados

x 2

DD Clip de pared 
universal

x 2

14. Vuelva a instalar cada clip de pared universal 
(DD) en el estándar vertical (A) de 66,04 cm en las 
ubicaciones de los orificios marcados y asegure 
los clips a la pared con un tornillo de cabeza 
alomada blanco de 4,8 x 38 (BB).

Aditamentos utilizados

BB 4,8 x 38 x 2

CONSEJO DE PROFESIONALES
Use un mazo de goma para golpear 
ligeramente las anclas de expansión para 
panel de yeso (AA) en el panel de yeso.

AA
Ancla de expansión 
para panel de yeso



27

Ejemplos de diseños de kit

INSTRUCCIONES DE FUNCIONAMIENTO



CUIDADO Y MANTENIMIENTO

LISTA DE PIEZAS DE REPUESTO

Para obtener piezas de repuesto, llame a nuestro Departamento de Servicio al Cliente al 888-251-1026, 
de lunes a domingo de 8 a.m. a 8 p.m., hora estándar del Este. También puede ponerse en contacto con 
nosotros en partsplus@lowes.com.

Impreso en China

A
DD

EE

FF

DD

GARANTÍA

Esta garantía limitada cubre la compra original de este producto para uso normal personal o 
doméstico. Origin 21 garantiza que sus productos estarán libres de defectos en los materiales y 
mano de obra (a excepción de un desgaste normal) por un período de un (1) año a partir de la 
fecha de compra, a excepción de lo que se indica a continuación. Como única solución en virtud 
de los términos de esta garantía, Origin 21 reparará o reemplazará cualquier componente 
defectuoso.

Esta garantía no se aplica a daños causados por incendio, accidente, negligencia, mal uso, uso 
diferente al indicado en las instrucciones del producto, limpieza inadecuada u otras circunstancias 
que no se puedan atribuir directamente a defectos en materiales y mano de obra.

Los materiales cuentan con una garantía de un año a partir de la fecha de compra. Se necesita un 
recibo de compra (una copia o el recibo original) como prueba de compra para validar la garantía.

• Utilice un paño suave y limpio que no raye la superficie al limpiarla.
• Asegúrese de que todos los pernos y tornillos estén bien apretados antes de usar la unidad. 
Revise los pernos y tornillos periódicamente y apriételos de ser necesario.

28

 PIEZA DESCRIPCIÓN                         PIEZA #
Estándar vertical de 66,04 cm
Clip de pared universal
Clip de pared de montaje inferior
Soporte extensor

1064540-A
1064540-DD
1064540-EE
1064540-FF    

A
DD
EE
FF




	1064540-26-in Vertical Standard Extender Kit_EN
	1064540-26-in Vertical Standard Extender Kit_SP

